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Qla y=(5x+1), ?=7X5X(5x+1)6 =35(5x+1)°
X

Qlbi f(x)=1°gx—g(x),

(1)~ (2x)(10g, () _ x(1~210g, (x)) _ 1-2log, (x)

f(x)= (x2)2 o e
Qlbii f’(1)=%‘fgf(l)=1

Q2 f’(x)zl—é, f(x)=j(l—éjdx=x—3loge|x|+c
x x

f(e)=e—3loge|e|+c=—2, sce=l-e
- f(x)=x—3loge|x|+1—e

Q3 JT(%jdx:fx; dxz[zxir =2/4-21=2

Q4a f(x)= % (v +3x2-4), F/(x)= %(3;8 +6x)

Let f'(x)=0, %(3;8 +6x)=%x(x+2)=()

.. x==2,0 and and the corresponding ordinates are y =0,—2
The stationary points are: (—2,0) and (0,—2).

Q4b

D S

l()c3+3xz—4)dx 1T 2
Q4c Av.value="" 2 =X P —ax!| =1
41 4 0

Qsa h(t)=14+8sin(f—2’j , minimum depth=14-8=6 m

Qsb 14+8$in[71[—2tj:10 where 0< 7 <24

. (7t 1 #nt Tz 11z
si| — |=——, —=—,——
(12] 2 12 6 6

3.1-25

L tr=14, 22

Q6a Pr(x >3.1)=Pr(2> szr(Z>2):Pr(Z <b), b==-2

Q6b Pr(Z <-1)=Pr(Z>1)=0.16, .: Pr(Z <1)=0.84
2 Pr(0<Z<1)=0.84-05=0.34

Pr(0<z<1) _0.34

= =0.68
Pr(z >0) 0.5

Pr(X <2.81X >2.5)=Pr(z<11Z>0)=
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(6-x)

(4-x)

6—x
" (4-x)

Q7a log,(6—x)—log,(4—x)=2, log, =2 =2’

6—-x=16-4x, x=¥

Q7b 3¢’ =5+8¢™, 3¢' —5-8¢ ' =0, (3¢’ =5-8¢ ") =0
3('f—5¢'—8=0 . (Be' =8)e' +1)=0

Since ¢ +1>0,.: 3¢' -8=0, ¢ =§, tﬂog{%}

X

Q8a Pr(AnB)=Pr(AlB)Pr(B)= %

AW
W=

~—

Q8b Pr(AnB)+Pr(A’nB)=Pr(B
1

1
412

2 Pr(A’'nB)=Pr(B)-Pr(An B)=

W | —

Q8c If A and B are independent, Pr(A):Pr(AIB):

AW

Pr(AuB)=Pr(A)+Pr(B)—Pr(AmB)=%+

A\ |

W | —
A=

Q9a Pr(white)= % p +é(l— p)= %(217 +1)

O B
Qobi Pr(Bl white) = PrBO white) _ sli=p) _1-p

Pr(white)  L(2p+1) 1+2p
.. p 7
9b =03, p=—
dbit =16

Q10a T(2+2cos8, 2sin8)
QI10b Gradient of TC =tané

. 1 1
.. gradient of tangent=——=—
ny tan@

Alternatively, gradient of tangent = tan £TXx = tan(% + 9)

Q10ci B(2,b) is on the line xcos@+ ysin@=2+2cosé

. 2cos@+bsin@=2+2cos@,.: b= .2
sin @
Q10cii D(4,d) is on the line xcos@+ ysin@ =2+ 2cos @
. 4cos@+dsinf=2+2cosb, . dzw
sin @
QI0d Area A= (d+b)x2=d+b=2=2050
2 sin &

dA _sin 9(2 sin 9)— (4— 2cos 9)0059

de sin® @
_ 2(sin2 0 +cos’ 9)—40059 _2—4cosb
sin’ @ sin® @
Let ﬁ:0, 2—4cos8=0, cos&zl, 0=£
dé 2 3
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B
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.. minimum A = = 2\/5 square units
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